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1. (A) Explzin proiit maximizztion i Fmencizl Menegement. 7
(B) Whzt is Finzncizl Mznzgemen: ? Explam menzgenzl fimsnce functions. 7
OR

1. (A) “TIbs socesss of 2l acavinss of en mdostial unit éepends oo finsnce function.™

Explain tos si=tzment 7

(B) Explzain the aémmmistznve fin=nczal functons.

2. (A) Wh=is sk ? Explam the cevses of finencial nisk and busmess riskc 7
(B) Explzin the fintre valne of 2o ooy with 2a ex=mple -

OR
2. (A) W:ﬁeé::zﬂedmmNSEmdBSEm’mofhdie_ 7

(B) Jzid=ep hzs 2 o=l mvesamem o1 < 1.50,000. The miormston of mvestment is ss
follows : -
| - | 0% | 12%

Czlculzte the remmm of poridolio znd expectad rzte of returm from the sbove
™ :

3. The ABC Ltd. wems to buy 2 mechine costing ¥ 8,50,000. The scrap value of the
machine zt the end of 2 useful life of five vears is T 50,000. The tax rate is S0%: The
expected rate of return is 12%. Estimated eamings of the machine before depreciation

and tzxes zre zs follows : , 14
Year : 1 5

' -
; : ¢ | 2 |
f S —

| 2,80,000 |

| Earnings %) | 4,40,000 | 5,20,000 | 320,000 | 2,40,000
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Present value of ¥ 1. at a discount rate of 12% :

R
P.V. Factor 0.893 0.797 0.712

Calculate : (1) Payback period

(A)
(B)

4. (A)
(B)

4. (A)

(B)

JI-120

| Current Liability

(2) Average rate of return

(3) Net present value
OR

Write a note on sources of working capital.

Describe the different types of working capital.

Explain the determinants of dividend policy.

Explain new provisions of preference shares as per Companies Act 2013.
OR

The Balance Sheet of Star Ltd. on 31-03-2023 -is as follows :
Balance Sheet

Liabilities

2,50,000
80,000

Equity share capital Each share of < 10
12% Debentures

1,00,000 | Fixed Assets

1,20,000 | Current Assets
40,000
70,000

3,30,000 3,30,000

During 2022-23, the sales of the company was T 8,00,000. Its fixed costs were
< 60,000, while variable costs were 45% of sales. The rate of income tax is 50%.

Reserves and Surplus

(i) Calculate Financial Leverage, Operating Leverage and Combined Leverage.

(ii) Calculate the operating profit (EBIT) when the Earnings Per Share (EPS) is
% 2, T 4 and zero.

Calculate any two from the following :

(1) 10-year debenture of company 1s sold at ¥ 90; the face value of the debenture
is ¥ 100. The coupon rate of interest is 8%. If the rate of income tax applicable

to the company is 50%, how much is the cost of debt after tax ?
6



(2) ' A company raises 10% preference share capital permanently. The face value
of the preference share is ¥ 100, but its issue price is ¥ 95, so how much is
cost for this issue ?

(3) The current market price of one share is < 90. A dividend of ¥ 4.50 per
-share is expected neéxt year. If dividend is expected to grow at a rate of 7%,
how much is the cost of equity share capital ?

5. Choose the correct option : (any seven) ; 14
(1) When a company issues new equity shares, the right to purchase them is first
given to the old equity shareholder which is called :
(A) Bonus Shares (B) Equity Shares
(C) Preference Shares . (D) Right Shares

(2) Yash Ltd. wants to set up a machine costing ¥ 10,00,000. The machine will make
a profit of ¥ 1,50,000 per annum after deducting 10% depreciation but before
taxes. The tax rate is 50%. What will be payback period ?

(A) 10 years (B)  4.71 years
(C) 6.31 years | (D) 5.71 years

(3) Additional working capital required to meet contingencies is called
working capital.

(A) Permanent . (B) Flexible
(C) Seasonal (D) Special
(4) The price printed on the bond document is called price.
(A) Original cost (B) Market
(C) Returnvalue - (D) None of the above

(5) Net working capital is
(A) - Total Current Assets less Total Current Liabilities
(B) Current Liabilities
(C) Current Assets less Total Assets
(D) Current Liabilities less Current Assets

(6) What does zero net present value represent ?
(A) Internal rate of return
(B) Rate of return on original investment
(C) Rate of return on average investment

(D) None of the above
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(7)

(8)

)

The percentage change in profit due to change in sales volume due to fixed costs in
the firm is greater than the percentage change in volume, which is known as

(A) Financial leverage (B) Operating leverage

(C) Combined leverage (D) None of the above

The market price of equity shares of KC Ltd. is ¥ 30, and it pays a dividend of X 4
per share. The dividend growth rate is 6%. So, calculate cost of equity share.

(A) 6.13% (B) 19.33%

(C) 5.33% (D) 10.33%

is a long-term plan for making and financing fixed capital expenditures.
(A) Working capital (B) Capital budgeting
(C) Planning | (D) Cash budget

(10) Who introduced the approach of net income and net operating income ?

(A) Ezra Solomon - (B) Modigliani and Miller
(C) David Durante . (D) None of the above

(11) the emergence phase of financial management involves economic theory

and quantitative analysis methods.

(A) Phase of transition (B) Conventional phase
(C) Modemn phase (D) None of the above

(12) When was the National Stock Exchange established ?
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(A) 1990 (B) 1995
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